

ON SOME GENERALIZATIONS OF OSTROWSKI INEQUALITY FOR LIPSCHITZ FUNCTIONS AND FUNCTIONS OF BOUNDED VARIATION

LJ. DEDIĆ, M. MATIĆ AND J. PEČARIĆ

(communicated by T. Rassias)

Abstract. Some generalizations of Ostrowski inequality for Lipschitz functions and functions of bounded variation are given.

1. Introduction

In 1938, Ostrowski [1] (see also [2, p. 468]) proved the following integral inequality:

$$\left| f(x) - \frac{1}{b-a} \int_a^b f(t) dt \right| \leq \left[\frac{1}{4} + \frac{(x - \frac{a+b}{2})^2}{(b-a)^2} \right] (b-a) M, \quad \forall x \in [a, b] \quad (1.1)$$

where $f : [a, b] \rightarrow \mathbf{R}$ is differentiable function such that $|f'(x)| \leq M$ for all $x \in [a, b]$.

G. V. Milovanović and J. Pečarić [3] and A. M. Fink [4] (see also [2, p. 470]) have considered generalizations of (1.1) in the form

$$\left| \frac{1}{n} \left[f(x) + \sum_{k=1}^{n-1} F_k(x) \right] - \frac{1}{b-a} \int_a^b f(t) dt \right| \leq K(n, p, x) \|f^{(n)}\|_p, \quad (1.2)$$

where $F_k(x)$ is defined by

$$F_k(x) = \frac{n-k}{k!(b-a)} \left[f^{(k-1)}(a)(x-a)^k - f^{(k-1)}(b)(x-b)^k \right]. \quad (1.3)$$

For $n = 1$ the sum above is defined to be zero.

In fact, G. V. Milovanović and J. Pečarić have proved that ([2, p.469]):

$$K(n, \infty, x) = \frac{(x-a)^{n+1} + (b-x)^{n+1}}{(n+1)!n(b-a)}, \quad (1.4)$$

while A. M. Fink proved that

$$K(n, p, x) = \frac{[(x-a)^{np'+1} + (b-x)^{np'+1}]^{1/p'}}{n!(b-a)} B((n-1)p' + 1, p' + 1)^{1/p'}, \quad (1.5)$$

Mathematics subject classification (1991): 26D10, 26D15.

Key words and phrases: Ostrowski inequality, Lipschitz functions, bounded variation.

where $1 < p \leq \infty$, $1/p + 1/p' = 1$, B is the beta function, and

$$K(n, 1, x) = \frac{(n-1)^{n-1}}{n!n^n(b-a)} \max \{(x-a)^n, (b-x)^n\}. \quad (1.6)$$

Further generalization of this result is given in [10].

For $n = 1$ relation (1.6) becomes

$$K(1, 1, x) = \frac{1}{b-a} \max \{x-a, b-x\}. \quad (1.7)$$

This result was recently obtained by S. S. Dragomir and S. Wang [5] in equivalent form

$$K(1, 1, x) = \frac{1}{2} + \frac{1}{b-a} \left| x - \frac{a+b}{2} \right|. \quad (1.8)$$

To simplify some expressions, in the rest of this paper we shall use the notation

$$\Delta(x) := \max \{x-a, b-x\} = \frac{b-a}{2} + \left| x - \frac{a+b}{2} \right|, \quad x \in [a, b].$$

Of course, since $\max \{(x-a)^n, (b-x)^n\} = \Delta^n(x)$, one can write (1.6) in equivalent form

$$K(n, 1, x) = \frac{(n-1)^{n-1}}{n!n^n(b-a)} \Delta^n(x). \quad (1.9)$$

Dragomir and Wang [6] have also obtained (1.5) for $n = 1$ that is

$$K(1, p, x) = \frac{[(x-a)^{p'+1} + (b-x)^{p'+1}]^{1/p'}}{(b-a)(p'+1)^{1/p'}} \quad (1.10)$$

and gave various applications of this result.

In this paper we shall give some generalizations of previous results and prove some similar inequalities for Lipschitz functions and functions of bounded variation. Such results are generalization of results from [7], [8] and [9].

2. Some identities

Let (P_n) be a harmonic sequence of polynomials, that is $P'_n = P_{n-1}$, $n \geq 1$, and $P_0 = 1$. Furthermore, let $I \subset \mathbf{R}$ be a segment and $f : I \rightarrow \mathbf{R}$ such that $f^{(n-1)}$ is Lipschitz function or is a continuous function of bounded variation on I , for some $n \geq 1$. Consider

$$\begin{aligned} & (-1)^{n-1} \int_y^x P_{n-1}(t) df^{(n-1)}(t) \\ &= (-1)^{n-1} P_{n-1}(t) f^{(n-1)}(t) \Big|_y^x + (-1)^{n-2} \int_y^x P_{n-2}(t) f^{(n-1)}(t) dt \\ &= (-1)^{n-1} \left[P_{n-1}(x) f^{(n-1)}(x) - P_{n-1}(y) f^{(n-1)}(y) \right] \\ &\quad + (-1)^{n-2} \int_y^x P_{n-2}(t) f^{(n-1)}(t) dt \end{aligned}$$

for $x, y \in I$. By applying the same procedure to the last integral we successively get the relation

$$\begin{aligned} & (-1)^{n-1} \int_y^x P_{n-1}(t) df^{(n-1)}(t) \\ &= \sum_{k=1}^{n-1} (-1)^k \left[P_k(x) f^{(k)}(x) - P_k(y) f^{(k)}(y) \right] + f(x) - f(y) \end{aligned} \quad (2.1)$$

for $x, y \in I$. If we set $x = a$, $y = b$, $n = m + 1$ and replace $f(t)$ by $\int_a^t f(u) du$ in (2.1) we get

$$\begin{aligned} \int_a^b f(t) dt &= \sum_{k=1}^m (-1)^k \left[P_k(a) f^{(k-1)}(a) - P_k(b) f^{(k-1)}(b) \right] \\ &+ (-1)^m \int_a^b P_m(t) f^{(m)}(t) dt. \end{aligned} \quad (2.2)$$

By integration with respect to y , (2.1) becomes

$$\begin{aligned} \int_a^b f(y) dy &= (b-a) \left[f(x) + \sum_{k=1}^{n-1} (-1)^k P_k(x) f^{(k)}(x) \right] \\ &- \sum_{k=1}^{n-1} (-1)^k \int_a^b P_k(y) f^{(k)}(y) dy + (-1)^n \int_a^b \int_y^x P_{n-1}(t) df^{(n-1)}(t) dy. \end{aligned} \quad (2.3)$$

Using (2.2) we have

$$\begin{aligned} \int_a^b f(y) dy &= (b-a) \left[f(x) + \sum_{k=1}^{n-1} (-1)^k P_k(x) f^{(k)}(x) \right] \\ &- \sum_{k=1}^{n-1} \left[\sum_{j=1}^k (-1)^j \left[P_j(b) f^{(j-1)}(b) - P_j(a) f^{(j-1)}(a) \right] + \int_a^b f(t) dt \right] \\ &+ (-1)^n \int_a^b \int_y^x P_{n-1}(t) df^{(n-1)}(t) dy \end{aligned}$$

that is

$$\begin{aligned} n \int_a^b f(y) dy &= (b-a) \left[f(x) + \sum_{k=1}^{n-1} (-1)^k P_k(x) f^{(k)}(x) \right] \\ &- \sum_{k=1}^{n-1} (-1)^k (n-k) \left[P_k(b) f^{(k-1)}(b) - P_k(a) f^{(k-1)}(a) \right] \\ &+ (-1)^n \int_a^b \int_y^x P_{n-1}(t) df^{(n-1)}(t) dy. \end{aligned} \quad (2.4)$$

Using notation

$$\tilde{F}_k := \frac{(-1)^k(n-k)}{b-a} \left[P_k(a)f^{(k-1)}(a) - P_k(b)f^{(k-1)}(b) \right]$$

and

$$k(t, x) := \begin{cases} t-a, & t \in [a, x] \\ t-b, & t \in (x, b] \end{cases},$$

relation (2.4) becomes

$$\begin{aligned} \frac{1}{n} \left[f(x) + \sum_{k=1}^{n-1} (-1)^k P_k(x) f^{(k)}(x) + \sum_{k=1}^{n-1} \tilde{F}_k \right] - \frac{1}{b-a} \int_a^b f(t) dt \\ = \frac{(-1)^{n-1}}{n(b-a)} \int_a^b P_{n-1}(t) k(t, x) df^{(n-1)}(t). \end{aligned} \quad (2.5)$$

The sums above are defined to be zero for $n = 1$.

For the harmonic sequence of polynomials

$$P_k(t) = \frac{(t-x)^k}{k!}, k \geq 0$$

relation (2.5) becomes

$$\begin{aligned} \frac{1}{n} \left[f(x) + \sum_{k=1}^{n-1} F_k(x) \right] - \frac{1}{b-a} \int_a^b f(t) dt \\ = \frac{1}{n!(b-a)} \int_a^b (x-t)^{n-1} k(t, x) df^{(n-1)}(t), \end{aligned} \quad (2.6)$$

where $F_k(x)$ is defined by (1.3).

For the harmonic sequence of polynomials

$$P_k(t) = \frac{1}{k!} \left(t - \frac{a+b}{2} \right)^k, k \geq 0$$

relation (2.5) becomes

$$\begin{aligned} \frac{1}{n} \left[f(x) + \sum_{k=1}^{n-1} \frac{(-1)^k}{k!} \left(x - \frac{a+b}{2} \right)^k f^{(k)}(x) \right. \\ \left. + \sum_{k=1}^{n-1} \frac{(b-a)^{k-1}(n-k)}{k!2^k} \left[f^{(k-1)}(a) - (-1)^k f^{(k-1)}(b) \right] \right] - \frac{1}{b-a} \int_a^b f(t) dt \\ = \frac{1}{n!(b-a)} \int_a^b \left(\frac{a+b}{2} - t \right)^{n-1} k(t, x) df^{(n-1)}(t). \end{aligned} \quad (2.7)$$

For $y \in [a, b]$ and the harmonic sequence of polynomials

$$P_k(t) = \frac{1}{k!} (t-y)^k, k \geq 0$$

relation (2.5) gives

$$\begin{aligned} & \frac{1}{n} \left[f(x) + \sum_{k=1}^{n-1} \frac{(y-x)^k}{k!} f^{(k)}(x) \right. \\ & \quad \left. + \sum_{k=1}^{n-1} \frac{(n-k)}{k!(b-a)} \left[(y-a)^k f^{(k-1)}(a) - (y-b)^k f^{(k-1)}(b) \right] \right] - \frac{1}{b-a} \int_a^b f(t) dt \\ & = \frac{1}{n!(b-a)} \int_a^b (y-t)^{n-1} k(t,x) df^{(n-1)}(t). \end{aligned} \tag{2.8}$$

These identities are important in the context of the present paper and will be used to prove many inequalities.

3. Inequalities for Lipschitz functions

THEOREM 1. *Let (P_k) be a harmonic sequence of polynomials and $f : [a, b] \rightarrow \mathbf{R}$ such that $f^{(n-1)}$ is L -Lipschitz function for some $n \geq 1$ i.e.*

$$|f^{(n-1)}(x) - f^{(n-1)}(y)| \leq L \cdot |x - y|, \quad x, y \in [a, b]$$

where $L \geq 0$ is a constant. Then

$$\begin{aligned} & \left| \frac{1}{n} \left[f(x) + \sum_{k=1}^{n-1} (-1)^k P_k(x) f^{(k)}(x) + \sum_{k=1}^{n-1} \tilde{F}_k \right] - \frac{1}{b-a} \int_a^b f(t) dt \right| \\ & \leq \frac{L}{n(b-a)} \int_a^b |P_{n-1}(t)k(t,x)| dt \end{aligned}$$

where \tilde{F}_k and $k(t, x)$ are from relation (2.5).

Proof. For integrable function $F : [a, b] \rightarrow \mathbf{R}$ we have

$$\left| \int_a^b F(t) df^{(n-1)}(t) \right| \leq L \int_a^b |F(t)| dt$$

since $f^{(n-1)}$ is L -Lipschitz function.

Let us apply this estimation to the relation (2.5). We get

$$\begin{aligned} & \left| \frac{1}{n} \left[f(x) + \sum_{k=1}^{n-1} (-1)^k P_k(x) f^{(k)}(x) + \sum_{k=1}^{n-1} \tilde{F}_k \right] - \frac{1}{b-a} \int_a^b f(t) dt \right| \\ & = \left| \frac{(-1)^{n-1}}{n(b-a)} \int_a^b P_{n-1}(t)k(t,x) df^{(n-1)}(t) \right| \\ & \leq \frac{L}{n(b-a)} \int_a^b |P_{n-1}(t)k(t,x)| dt \end{aligned}$$

which proves our assertion. □

COROLLARY 1. *Let f be defined as in the theorem above. Then*

$$\left| \frac{1}{n} \left[f(x) + \sum_{k=1}^{n-1} F_k(x) \right] - \frac{1}{b-a} \int_a^b f(t) dt \right| \leq L \frac{(x-a)^{n+1} + (b-x)^{n+1}}{(n+1)!n(b-a)}$$

where $F_k(x)$ is given by (1.3).

Proof. Put $P_k(t) = \frac{1}{k!}(t-x)^k$, $k \geq 0$, in the theorem above. □

REMARK 1. For $n = 1$ the inequality of the corollary above becomes

$$\left| f(x) - \frac{1}{b-a} \int_a^b f(t) dt \right| \leq L \frac{(x-a)^2 + (b-x)^2}{2(b-a)}$$

It was proved by J. Pečarić and B. Savić in [8, Teorema 8, p. 190] and rediscovered recently by S. S. Dragomir, P. Cerone, J. Roumeliotis and S. Wang in [9]. This inequality is a special case of a result proved in [8] for Hölder functions.

COROLLARY 2. *Let f be defined as in the theorem above and $n \geq 1$. Then*

$$\begin{aligned} & \left| \frac{1}{n} \left[f(x) + \sum_{k=1}^{n-1} \frac{(y-x)^k}{k!} f^{(k)}(x) \right] \right. \\ & \left. + \sum_{k=1}^{n-1} \frac{(n-k)}{k!(b-a)} \left[(y-a)^k f^{(k-1)}(a) - (y-b)^k f^{(k-1)}(b) \right] - \frac{1}{b-a} \int_a^b f(t) dt \right| \\ & \leq \frac{L}{n!(b-a)} I_n(x, y) \end{aligned}$$

for every $x, y \in [a, b]$, where

$$\begin{aligned} I_n(x, y) &= \frac{(y-a)^{n+1} + (b-y)^{n+1}}{n(n+1)} + \frac{2}{n+1} |x-y|^{n+1} \\ & \quad + \frac{2}{n} \left(\frac{a+b}{2} - y \right) (y-x) |x-y|^{n-1}. \end{aligned}$$

Proof. Put $P_k(t) = \frac{1}{k!}(t-y)^k$, $k \geq 0$, in the theorem above and use the formula

$$\int_a^b |t-y|^{n-1} |k(t,x)| dt = I_n(x, y), \quad n \geq 1.$$

□

COROLLARY 3. *Let f be defined as in the theorem above and $n \geq 1$. Then*

$$\begin{aligned} & \left| \frac{1}{n} \left[f(x) + \sum_{k=1}^{n-1} \frac{(-1)^k}{k!} \left(x - \frac{a+b}{2} \right)^k f^{(k)}(x) \right] \right. \\ & \left. + \sum_{k=1}^{n-1} \frac{(b-a)^{k-1}(n-k)}{k!2^k} \left[f^{(k-1)}(a) - (-1)^k f^{(k-1)}(b) \right] - \frac{1}{b-a} \int_a^b f(t) dt \right| \\ & \leq \frac{L}{(n+1)!} \left[\frac{2}{b-a} \left| x - \frac{a+b}{2} \right|^{n+1} + \frac{(b-a)^n}{n2^n} \right]. \end{aligned}$$

Proof. Put $y = \frac{a+b}{2}$ in Corollary 2. □

COROLLARY 4. Let f' be an L -Lipschitz on $[a, b]$. Then

$$\left| \frac{1}{2} \left[f(x) + (y-x)f'(x) + \frac{(y-a)f(a) - (y-b)f(b)}{b-a} \right] - \frac{1}{b-a} \int_a^b f(t) dt \right| \\ \leq \frac{L}{2(b-a)} I_2(x, y)$$

for every $x, y \in [a, b]$.

Proof. Put $n = 2$ in Corollary 2. □

COROLLARY 5. Let f be defined as in the theorem above and $n \geq 1$. Then

$$\left| \frac{1}{n} \left[f\left(\frac{a+b}{2}\right) + \sum_{k=1}^{n-1} \frac{(b-a)^{k-1}(n-k)}{k!2^k} \left[f^{(k-1)}(a) - (-1)^k f^{(k-1)}(b) \right] \right] \right. \\ \left. - \frac{1}{b-a} \int_a^b f(t) dt \right| \\ \leq L \frac{(b-a)^n}{(n+1)!n2^n}.$$

Proof. Put $x = \frac{a+b}{2}$ in Corollary 3. □

COROLLARY 6. Let f be defined as in the theorem above. Then

$$\left| \frac{1}{n} \left[f(a) + \sum_{k=1}^{n-1} \frac{(-1)^{k-1}(n-k)}{k!} (b-a)^{k-1} f^{(k-1)}(b) \right] - \frac{1}{b-a} \int_a^b f(t) dt \right| \\ \leq L \frac{(b-a)^n}{(n+1)!n}$$

and

$$\left| \frac{1}{n} \left[f(b) + \sum_{k=1}^{n-1} \frac{(n-k)}{k!} (b-a)^{k-1} f^{(k-1)}(a) \right] - \frac{1}{b-a} \int_a^b f(t) dt \right| \\ \leq L \frac{(b-a)^n}{(n+1)!n}.$$

Proof. Put $x = a$ and $x = b$ in Corollary 1. □

COROLLARY 7. *Let f be defined as in the theorem above. Then*

$$\left| \frac{1}{n} \left[\frac{f(a) + f(b)}{2} + \sum_{k=1}^{n-1} \frac{(n-k)}{2 \cdot k!} (b-a)^{k-1} \left[f^{(k-1)}(a) - (-1)^k f^{(k-1)}(b) \right] \right] - \frac{1}{b-a} \int_a^b f(t) dt \right| \leq L \frac{(b-a)^n}{(n+1)!n}.$$

Proof. Add the inequalities of Corollary 6 using the triangle inequality. \square

COROLLARY 8. *Let f' be L -Lipschitz function on $[a, b]$. Then*

$$\left| \frac{1}{2} \left[f(x) + \frac{f(a)(x-a) - f(b)(x-b)}{b-a} \right] - \frac{1}{b-a} \int_a^b f(t) dt \right| \leq \frac{L}{12(b-a)} [(x-a)^3 + (b-x)^3]$$

for every $x \in [a, b]$. Further

$$\left| \frac{1}{2} \left[f\left(\frac{a+b}{2}\right) + \frac{f(a) + f(b)}{2} \right] - \frac{1}{b-a} \int_a^b f(t) dt \right| \leq L \frac{(b-a)^2}{48}$$

and

$$\left| \frac{f(a) + f(b)}{2} - \frac{1}{b-a} \int_a^b f(t) dt \right| \leq L \frac{(b-a)^2}{12}.$$

Proof. Put $n = 2$ in Corollary 1 to get the first relation and $x = \frac{a+b}{2}$ in the first relation to get the second. Further, put $n = 2$ in corollary 7 to get the last relation. \square

4. Inequalities for functions of bounded variation

THEOREM 2. *Let (P_k) be a harmonic sequence of polynomials and $f : [a, b] \rightarrow \mathbf{R}$ such that $f^{(n-1)}$ is a continuous function of bounded variation for some $n \geq 1$. Then*

$$\left| \frac{1}{n} \left[f(x) + \sum_{k=1}^{n-1} (-1)^k P_k(x) f^{(k)}(x) + \sum_{k=1}^{n-1} \tilde{F}_k \right] - \frac{1}{b-a} \int_a^b f(t) dt \right| \leq \frac{1}{n(b-a)} \max_{a \leq t \leq b} |P_{n-1}(t)k(t, x)| \cdot V_a^b(f^{(n-1)})$$

where \tilde{F}_k and $k(t, x)$ are from relation (2.5), and $V_a^b(f^{(n-1)})$ is the total variation of $f^{(n-1)}$ on $[a, b]$.

Proof. If $F : [a, b] \rightarrow \mathbf{R}$ is bounded on $[a, b]$ and the Riemann-Stieltjes integral

$$\int_a^b F(t)df^{(n-1)}(t)$$

exists, then

$$\left| \int_a^b F(t)df^{(n-1)}(t) \right| \leq \sup_{a \leq t \leq b} |F(t)| \cdot V_a^b(f^{(n-1)}).$$

Let us apply this estimation to the relation (2.5). We have

$$\begin{aligned} & \left| \frac{1}{n} \left[f(x) + \sum_{k=1}^{n-1} (-1)^k P_k(x) f^{(k)}(x) + \sum_{k=1}^{n-1} \tilde{F}_k \right] - \frac{1}{b-a} \int_a^b f(t)dt \right| \\ &= \left| \frac{(-1)^{n-1}}{n(b-a)} \int_a^b P_{n-1}(t)k(t, x)df^{(n-1)}(t) \right| \\ &\leq \frac{1}{n(b-a)} \max_{a \leq t \leq b} |P_{n-1}(t)k(t, x)| \cdot V_a^b(f^{(n-1)}) \end{aligned}$$

which proves our assertion. □

COROLLARY 9. *Let f be defined as in the theorem above. Then*

$$\left| \frac{1}{n} \left[f(x) + \sum_{k=1}^{n-1} F_k(x) \right] - \frac{1}{b-a} \int_a^b f(t)dt \right| \leq K(n, 1, x) V_a^b(f^{(n-1)})$$

where $F_k(x)$ is defined by (1.3) and $K(n, 1, x)$ by (1.9).

Proof. Put $P_k(t) = \frac{1}{k!}(t-x)^k$, $k \geq 0$, in the theorem above. □

REMARK 2. For $n = 1$ the inequality of the corollary above becomes

$$\left| f(x) - \frac{1}{b-a} \int_a^b f(t)dt \right| \leq \left[\frac{1}{2} + \frac{1}{b-a} \left| x - \frac{a+b}{2} \right| \right] \cdot V_a^b(f).$$

This inequality was proved recently by S. S. Dragomir [7].

COROLLARY 10. *Let f be defined as in the theorem above. Then for $n \geq 2$ we have*

$$\begin{aligned} & \left| \frac{1}{n} \left[f(x) + \sum_{k=1}^{n-1} \frac{(y-x)^k}{k!} f^{(k)}(x) \right. \right. \\ & \quad \left. \left. + \sum_{k=1}^{n-1} \frac{(n-k)}{k!(b-a)} \left[(y-a)^k f^{(k-1)}(a) - (y-b)^k f^{(k-1)}(b) \right] \right] - \frac{1}{b-a} \int_a^b f(t)dt \right| \\ & \leq \frac{1}{n!(b-a)} \max \left\{ \frac{(n-1)^{n-1}}{n^n} \Delta^n(y), |x-y|^{n-1} \Delta(x) \right\} \cdot V_a^b(f^{(n-1)}) \end{aligned}$$

for every $x, y \in [a, b]$.

Proof. Put $P_k(t) = \frac{1}{k!}(t-y)^k$, $k \geq 0$, in the theorem above and use the formula

$$\begin{aligned} \max_{a \leq t \leq b} |t-y|^{n-1} |k(t,x)| &= \max \left\{ \frac{(n-1)^{n-1}}{n^n} (y-a)^n, \right. \\ &\quad \left. \frac{(n-1)^{n-1}}{n^n} (b-y)^n, |x-y|^{n-1} (x-a), |x-y|^{n-1} (b-x) \right\} \\ &= \max \left\{ \frac{(n-1)^{n-1}}{n^n} \Delta^n(y), |x-y|^{n-1} \Delta(x) \right\} \end{aligned}$$

which can be easily proved. \square

COROLLARY 11. *Let f be defined as in the theorem above. Then for $n \geq 2$ we have*

$$\begin{aligned} &\left| \frac{1}{n} \left[f(x) + \sum_{k=1}^{n-1} \frac{(-1)^k}{k!} \left(x - \frac{a+b}{2} \right)^k f^{(k)}(x) \right. \right. \\ &\quad \left. \left. + \sum_{k=1}^{n-1} \frac{(b-a)^{k-1} (n-k)}{k! 2^k} \left[f^{(k-1)}(a) - (-1)^k f^{(k-1)}(b) \right] \right] - \frac{1}{b-a} \int_a^b f(t) dt \right| \\ &\leq \frac{1}{n!(b-a)} \max \left\{ \frac{(n-1)^{n-1}}{n^n} \left(\frac{b-a}{2} \right)^n, \left| x - \frac{a+b}{2} \right|^{n-1} \Delta(x) \right\} \cdot V_a^b(f^{(n-1)}). \end{aligned}$$

Proof. Put $y = \frac{a+b}{2}$, in Corollary 10. \square

COROLLARY 12. *Let f be defined as in the theorem above. Then for $n \geq 2$ we have*

$$\begin{aligned} &\left| \frac{1}{n} \left[f\left(\frac{a+b}{2}\right) + \sum_{k=1}^{n-1} \frac{(b-a)^{k-1} (n-k)}{k! 2^k} \left[f^{(k-1)}(a) - (-1)^k f^{(k-1)}(b) \right] \right] \right. \\ &\quad \left. - \frac{1}{b-a} \int_a^b f(t) dt \right| \\ &\leq \frac{(n-1)^{n-1}}{n! n^n 2^n} (b-a)^{n-1} \cdot V_a^b(f^{(n-1)}). \end{aligned}$$

Proof. Put $x = \frac{a+b}{2}$ in Corollary 11. \square

COROLLARY 13. *If f' has bounded variation on $[a, b]$ then*

$$\begin{aligned} &\left| \frac{1}{2} \left[f(x) + (y-x)f'(x) + \frac{(y-a)f(a) - (y-b)f(b)}{b-a} \right] - \frac{1}{b-a} \int_a^b f(t) dt \right| \\ &\leq \frac{1}{2(b-a)} \max \left\{ \frac{1}{4} \Delta^2(y), |x-y| \Delta(x) \right\} \cdot V_a^b(f') \end{aligned}$$

for every $x, y \in [a, b]$.

Proof. Put $n = 2$ in Corollary 10. □

COROLLARY 14. *Let f be defined as in the theorem above. Then*

$$\left| \frac{1}{n} \left[f(a) + \sum_{k=1}^{n-1} \frac{(n-k)}{k!} (b-a)^{k-1} (-1)^{k-1} f^{(k-1)}(b) \right] - \frac{1}{b-a} \int_a^b f(t) dt \right| \leq \frac{(n-1)^{n-1}}{n!n^n} (b-a)^{n-1} \cdot V_a^b(f^{(n-1)})$$

and

$$\left| \frac{1}{n} \left[f(b) + \sum_{k=1}^{n-1} \frac{(n-k)}{k!} (b-a)^{k-1} f^{(k-1)}(a) \right] - \frac{1}{b-a} \int_a^b f(t) dt \right| \leq \frac{(n-1)^{n-1}}{n!n^n} (b-a)^{n-1} \cdot V_a^b(f^{(n-1)}).$$

Proof. Put $x = a$ and $x = b$ in Corollary 9. □

COROLLARY 15. *Let f be defined as in the theorem above. Then*

$$\left| \frac{1}{n} \left[\frac{f(a)+f(b)}{2} + \sum_{k=1}^{n-1} \frac{(n-k)}{2 \cdot k!} (b-a)^{k-1} [f^{(k-1)}(a) - (-1)^k f^{(k-1)}(b)] \right] - \frac{1}{b-a} \int_a^b f(t) dt \right| \leq \frac{(n-1)^{n-1}}{n!n^n} (b-a)^{n-1} \cdot V_a^b(f^{(n-1)})$$

Proof. Add the inequalities of Corollary 14 using the triangle inequality. □

COROLLARY 16. *Let f' has bounded variation on $[a, b]$. Then*

$$\left| \frac{1}{2} \left[f(x) + \frac{f(a)(x-a) - f(b)(x-b)}{b-a} \right] - \frac{1}{b-a} \int_a^b f(t) dt \right| \leq \frac{1}{8(b-a)} \Delta^2(x) \cdot V_a^b(f')$$

for every $x \in [a, b]$. Further

$$\left| \frac{1}{2} \left[f\left(\frac{a+b}{2}\right) + \frac{f(a)+f(b)}{2} \right] - \frac{1}{b-a} \int_a^b f(t) dt \right| \leq \frac{b-a}{32} \cdot V_a^b(f')$$

and

$$\left| \frac{f(a)+f(b)}{2} - \frac{1}{b-a} \int_a^b f(t) dt \right| \leq \frac{b-a}{8} \cdot V_a^b(f').$$

Proof. Put $n = 2$ in Corollary 9 to get the first relation and $x = \frac{a+b}{2}$ in the first relation to get the second. To get the last relation put $n = 2$ in corollary 15. □

5. Convergence rate for generalized Taylor formula

Now we shall give some further results about generalized Taylor formula. For some related results see [11].

THEOREM 3. *Let (P_k) be a harmonic sequence of polynomials and $f : [a, b] \rightarrow \mathbf{R}$ such that $f^{(n-1)}$ is L -Lipschitz function for some $n \geq 2$ i.e.*

$$|f^{(n-1)}(x) - f^{(n-1)}(y)| \leq L \cdot |x - y|, \quad x, y \in [a, b]$$

where $L \geq 0$ is a constant. Then

$$\left| \sum_{k=1}^{n-1} (-1)^k \left[P_k(x)f^{(k)}(x) - P_k(y)f^{(k)}(y) \right] + f(x) - f(y) \right| \leq L \int_y^x |P_{n-1}(t)| dt$$

for every $x, y \in [a, b]$, $y \leq x$.

Proof. For integrable function $F : [a, b] \rightarrow \mathbf{R}$ we have

$$\left| \int_a^b F(t) df^{(n-1)}(t) \right| \leq L \int_a^b |F(t)| dt$$

since $f^{(n-1)}$ is L -Lipschitz function.

Let us apply this estimation to the relation (2.1). We get

$$\begin{aligned} & \left| \sum_{k=1}^{n-1} (-1)^k \left[P_k(x)f^{(k)}(x) - P_k(y)f^{(k)}(y) \right] + f(x) - f(y) \right| \\ &= \left| (-1)^{n-1} \int_y^x P_{n-1}(t) df^{(n-1)}(t) \right| \\ &\leq L \int_y^x |P_{n-1}(t)| dt \end{aligned}$$

which proves our assertion. □

COROLLARY 17. *Let f be defined as in the theorem above. Then*

$$\left| \sum_{k=1}^{n-1} \frac{(x-y)^k}{k!} f^{(k)}(y) - f(x) + f(y) \right| \leq L \frac{(x-y)^n}{n!}$$

for every $x, y \in [a, b]$, $y \leq x$.

Proof. Put $P_k(t) = \frac{1}{k!}(t-x)^k$, $k \geq 0$ in the theorem above. □

COROLLARY 18. *Let f be defined as in the theorem above. Then*

$$\begin{aligned} & \left| \sum_{k=1}^{n-1} \frac{(-1)^k}{k!} \left[(x-a)^k f^{(k)}(x) - (y-a)^k f^{(k)}(y) \right] + f(x) - f(y) \right| \\ &\leq L \frac{(x-a)^n - (y-a)^n}{n!} \end{aligned}$$

for every $x, y \in [a, b]$, $y \leq x$.

Proof. Put $P_k(t) = \frac{1}{k!}(t - a)^k$, $k \geq 0$ in the theorem above. □

THEOREM 4. Let (P_k) be a harmonic sequence of polynomials and $f : [a, b] \rightarrow \mathbf{R}$ such that $f^{(n-1)}$ is a function of bounded variation for some $n \geq 2$. Then

$$\left| \sum_{k=1}^{n-1} (-1)^k \left[P_k(x)f^{(k)}(x) - P_k(y)f^{(k)}(y) \right] + f(x) - f(y) \right| \leq \max_{y \leq t \leq x} |P_{n-1}(t)| \cdot V_y^x(f^{(n-1)})$$

for every $x, y \in [a, b]$, $y \leq x$.

Proof. If $F : [a, b] \rightarrow \mathbf{R}$ is bounded on $[a, b]$ and the Riemann-Stieltjes integral

$$\int_a^b F(t)df^{(n-1)}(t)$$

exists, then

$$\left| \int_a^b F(t)df^{(n-1)}(t) \right| \leq \sup_{a \leq t \leq b} |F(t)| \cdot V_a^b(f^{(n-1)}).$$

Let us apply this estimation to the relation (2.1). We have

$$\begin{aligned} & \left| \sum_{k=1}^{n-1} (-1)^k \left[P_k(x)f^{(k)}(x) - P_k(y)f^{(k)}(y) \right] + f(x) - f(y) \right| \\ &= \left| (-1)^{n-1} \int_y^x P_{n-1}(t)df^{(n-1)}(t) \right| \\ &\leq \max_{y \leq t \leq x} |P_{n-1}(t)| \cdot V_y^x(f^{(n-1)}) \end{aligned}$$

which proves our assertion. □

COROLLARY 19. Let f be defined as in the theorem above. Then

$$\left| \sum_{k=1}^{n-1} \frac{(x - y)^k}{k!} f^{(k)}(y) - f(x) + f(y) \right| \leq \frac{(x - y)^{n-1}}{(n - 1)!} \cdot V_y^x(f^{(n-1)})$$

for every $x, y \in [a, b]$, $y \leq x$.

Proof. Put $P_k(t) = \frac{1}{k!}(t - x)^k$, $k \geq 0$ in the theorem above. □

COROLLARY 20. Let f be defined as in the theorem above. Then

$$\begin{aligned} & \left| \sum_{k=1}^{n-1} \frac{(-1)^k}{k!} \left[(x - a)^k f^{(k)}(x) - (y - a)^k f^{(k)}(y) \right] + f(x) - f(y) \right| \\ &\leq \frac{(x - a)^{n-1}}{(n - 1)!} \cdot V_y^x(f^{(n-1)}) \end{aligned}$$

for every $x, y \in [a, b]$, $y \leq x$.

Proof. Put $P_k(t) = \frac{1}{k!}(t-a)^k$, $k \geq 0$ in the theorem above. \square

REFERENCES

- [1] A. OSTROWSKI, *Über die Absolutabweichung einer differentierbaren Funktionen von ihren Integralmittelwert*, Comment. Math. Helv., **10** (1938), 226–227.
- [2] D. S. MITRINOVIĆ, J. PEČARIĆ AND A. M. FINK, *Inequalities involving functions and their integrals and derivatives*, Kluwer Acad. Publ., Dordrecht, 1991.
- [3] G. V. MILOVANOVIĆ AND J. E. PEČARIĆ, *On generalizations of the inequality of A. Ostrowski and some related applications*, Univ. Beograd. Publ. Elektrotehn. Fak., Ser. Mat. Fiz., No 544–No 576 (1976), 155–158.
- [4] A. M. FINK, *Bounds on the deviation of a function from its averages*, Czechoslovak Math. J., **42(117)** (1992), 289–310.
- [5] S. S. DRAGOMIR AND S. WANG, *A new inequality of Ostrowski's type in L_1 -norm and applications to some special means and to some numerical quadrature rules*, Thamkang J. Math., **28**, 2 (1997), 239–244.
- [6] S. S. DRAGOMIR AND S. WANG, *A new inequality of Ostrowski's type in L_p -norm and applications to some special means and to some numerical quadrature rules*, Thamkang J. Math., to appear.
- [7] S. S. DRAGOMIR, *On the Ostrowski inequality for mappings with bounded variation and applications*, RGMIA, **2**, No. 1, 1999.
- [8] J. E. PEČARIĆ AND B. SAVIĆ, *O novom postupku razvijanja funkcija u red i nekim primjenama*, Zbornik radova VA KoV (Beograd) **9** (1983), 171–202.
- [9] S. S. DRAGOMIR, P. CERONE, J. ROUMELIOTIS AND S. WANG, *A weighted version of Ostrowski inequality for mappings of Hölder type and applications in numerical analysis*, RGMIA, **2**, No. 1, 1999.
- [10] LJ. DEDIĆ, J. PEČARIĆ AND N. UJEVIĆ, *On generalizations of Ostrowski inequality and some related results*, submitted.
- [11] M. MATIĆ, J. PEČARIĆ AND N. UJEVIĆ, *On new estimation of the remainder in generalized Taylor's formula*, Math. Inequal. Appl. **2** (1999), 343–361.

(Received April 5, 1999)

Lj. Dedić
Mathematics department
University of Split
Teslina 12
21 000 Split
Croatia
e-mail: ljuban@pmfst.hr

M. Matić
FESB, Mathematics department
University of Split
R. Boškovića bb
21 000 Split
Croatia
e-mail: mmatic@fesb.hr

J. Pečarić
Faculty of textile technology
University of Zagreb
Pierottijeva 6
10 000 Zagreb
Croatia
e-mail: pecaric@hazu.hr